Algorithm 6.21: Readers and writers with semaphores

semaphore readerSem < 0, writerSem < 0
integer delayedReaders « 0, delayedWriters « 0
semaphore entry « 1

integer readers « 0, writers « 0

SignalProcess

If writers = 0 ,§de|ayedReaders > 0
delayedReaders < delayedReaders — 1

signal(readerSem)

else if readers = 0 and writers = 0 and delayed\Writers > 0
delayedWriters < delayedWriters — 1

signal(writerSem)
else signal(entry)

StartRead

. wait(entry)

if writers > 0

delayedReaders « delayedReaders + 1

signal(entry)
wait(readerSem)
readers « readers + 1

: SignalProcess

StartWrite

EndRead
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wait(entry)
readers «— readers — 1

p10: SignalProcess

pll:
pl2:
pl3:
pld:
pl5:
plé:
pl7:

wait(entry)

if writers > 0 or readers > 0
delayedWriters < delayedWriters + 1
signal(entry)
wait(writerSem)

writers < writers + 1

SignalProcess

EndWrite
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wait(entry)
writers < writers — 1
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